

Tabulation Of Bids

Event #: 220 Version: 1

Name: Parking, Landscape Maintenance and Pressure Wash Services

Description: The City of Fort Lauderdale, Florida (City) is seeking bids from qualified, experienced, and licensed firm(s),

hereinafter referred to as the Contractor or Bidder, to provide landscape maintenance and pressure washing services for the City, in accordance with the terms, conditions, and specifications contained in this Invitation

to Bid (ITB

Event Currency: USD

Supplier	Bid Amount
SFM Landscape Services, LLC.	1,699,483.67
7500 NW 74 Avenue Medley, FL 33166	
Florida Drone Cleaning	344,198.00
124 ISLE OF VENICE APT 2 FORT LAUDERDALE, FL 33301	
* * Supplier has responses with a no bid	

Items

Item: PRESSURE WASHING-METERS

Description: Pressure Washing-Meters

Unit of EA Quantity: 3.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	3.0000	12,263.76000000	36,791.28
Florida Drone Cleaning	3.0000	7,047.00000000	21,141.00

Item: MOWING-METERS

Description: Mowing-Meters

Unit of EA Quantity: 36.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	36.0000	960.00000000	34,560.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-METERS

Description: Weeding Spraying-Meters

Unit of EA Quantity: 36.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	36.0000	560.00000000	20,160.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: HEDGE TRIMMING-METERS

Description: Hedge Trimming-Meters

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	640.00000000	7,680.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: PRUNING BRANCHES-METERS

Description: Pruning Branches-Meters

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	320.00000000	3,840.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-LOTS 1-100 SPAC

Description: Pressure Washing-Lots 1-100 Spaces

Unit of EA Quantity: 19.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	19.0000	14,703.03000000	279,357.57
Florida Drone Cleaning	19.0000	1,470.00000000	27,930.00

Item: MOWING-LOTS 1-100 SPACES

Description: Mowing-Lots 1-100 Spaces

Unit of EA Quantity: 192.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	192.0000	1,840.00000000	353,280.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-LOTS 1-100 SPAC

Description: Weeding Spraying-Lots 1-100 Spaces

Unit of EA Quantity: 228.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	228.0000	920.00000000	209,760.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: HEDGE TRIMMING-LOTS 1-100 SPACES

Description: Hedge Trimming-Lots 1-100 Spaces

Unit of EA Quantity: 76.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	76.0000	2,280.00000000	173,280.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRUNING BRANCHES-LOTS 1-100 SPAC

Description: Pruning Branches-Lots 1-100 Spaces

Unit of EA Quantity: 76.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	76.0000	840.00000000	63,840.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-LOTS 400-500 SP

Description: Pressure Washing-Lots 400-500 Spaces

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	9,055.26000000	9,055.26
Florida Drone Cleaning	1.0000	12,204.00000000	12,204.00

Item: MOWING-LOTS 400-500 SPACES

Description: Mowing-Lots 400-500 Spaces

Unit of EA **Quantity: 12.0000**

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	240.00000000	2,880.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-LOTS 400-500 SP

Description: Weeding Spraying-Lots 400-500 Spaces

Unit of EA **Quantity: 12.0000**

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	120.00000000	1,440.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: HEDGE TRIMMING-LOTS 400-500 SPAC

Description: Hedge Trimming-Lots 400-500 Spaces Unit of EA **Quantity: 4.0000**

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	800.00000000	3,200.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRUNING BRANCHES-LOTS 400-500 SP

Description: Pruning Branches-Lots 400-500 Spaces Unit of EA

Measure:

Quantity: 4.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	120.00000000	480.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-PARKING SERVICE

Description: Pressure Washing-Parking Services Building

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	450.00000000	450.00
Florida Drone Cleaning	1.0000	1,323.00000000	1,323.00

Item: MOWING-PARKING SERVICES BUILDING

Description: Mowing-Parking Services Building

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	80.00000000	960.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-PARKING SERVICE

Description: Weeding Spraying-Parking Services Building

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	40.0000000	480.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: HEDGE TRIMMING-PARKING SERVICES

Description: Hedge Trimming-Parking Services Building

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	80.00000000	320.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRUNING BRANCHES-PARKING SERVICE

Description: Pruning Branches-Parking Services Building

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	40.00000000	160.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-LAS OLAS GARAGE

Description: Pressure Washing-Las Olas Garage

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	31,085.91000000	31,085.91
Florida Drone Cleaning	1.0000	55,000.00000000	55,000.00

Item: MOWING-LAS OLAS GARAGE

Description: Mowing-Las Olas Garage

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	240.00000000	2,880.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-LAS OLAS GARAGE

Description: Weeding Spraying-Las Olas Garage

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	160.00000000	1,920.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: HEDGE TRIMMING-LAS OLAS GARAGE

Description: Hedge Trimming-Las Olas Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	800.00000000	3,200.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRUNING BRANCHES-LAS OLAS GARAGE

Description: Pruning Branches-Las Olas Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	120.00000000	480.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-ARTS & SCIENCE

Description: Pressure Washing-Arts & Science Garage

Unit of EA

Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	29,565.00000000	29,565.00
Florida Drone Cleaning	1.0000	52,000.00000000	52,000.00

Item: MOWING-ARTS & SCIENCE GARAGE

Description: Mowing-Arts & Science Garage

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	240.00000000	2,880.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-ARTS & SCIENCE

Description: Weeding Spraying-Arts & Science Garage **Unit of** EA **Quantity:** 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	80.00000000	960.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: HEDGE TRIMMING-ARTS & SCIENCE GA

Description: Hedge Trimming-Arts & Science Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	240.00000000	960.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRUNING BRANCHES-ARTS & SCIENCE

Description: Pruning Branches-Arts & Science Garage **Unit of** EA **Quantity:** 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	40.00000000	160.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-CITY HALL GARAG

Description: Pressure Washing-City Hall Garage

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	46,822.05000000	46,822.05
Florida Drone Cleaning	1.0000	72,400.00000000	72,400.00

Item: MOWING-CITY HALL GARAGE

Description: Mowing-City Hall Garage

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	240.00000000	2,880.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: WEEDING SPRAYING-CITY HALL GARAG

Description: Weeding Spraying-City Hall Garage

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	120.00000000	1,440.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: HEDGE TRIMMING-CITY HALL GARAGE

Description: Hedge Trimming-City Hall Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	240.00000000	960.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRUNING BRANCHES-CITY HALL GARAG

Description: Pruning Branches-City Hall Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	80.00000000	320.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING-RIVERWALK CENTE

Description: Pressure Washing-Riverwalk Center Garage

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	90,606.60000000	90,606.60
Florida Drone Cleaning	1.0000	99,000.00000000	99,000.00

Item: MOWING-RIVERWALK CENTER GARAGE

Description: Mowing-Riverwalk Center Garage

Unit of EA Quantity: 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	240.00000000	2,880.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WEEDING SPRAYING-RIVERWALK CENTE

Description: Weeding Spraying-Riverwalk Center Garage **Unit of** EA **Quantity:** 12.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	12.0000	120.00000000	1,440.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: HEDGE TRIMMING-RIVERWALK CENTER

Description: Hedge Trimming-Riverwalk Center Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	160.00000000	640.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: PRUNING BRANCHES-RIVERWALK CENTE

Description: Pruning Branches-Riverwalk Center Garage

Unit of EA Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	4.0000	80.00000000	320.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: ST AUGUSTINE "PALMETTO" SOD

Description: St Augustine "Palmetto" Sod

Unit of SF Quantity: 1,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1,000.0000	1.25000000	1,250.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: TIFWAY 419 SOD

Description: Tifway 419 Sod

Unit of SF Quantity: 1,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1,000.0000	1.25000000	1,250.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: CELEBRATION BERMUDA SOD

Description: Celebration Bermuda Sod

Unit of SF Quantity: 1,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1,000.0000	1.50000000	1,500.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: ZOYSIA SOD

Description: Zoysia Sod

Unit of SF Measure:

Quantity: 1,000.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1,000.0000	1.75000000	1,750.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: BAHIA SOD

Description: Bahia Sod

Unit of SF Measure:

Quantity: 1,000.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1,000.0000	1.00000000	1,000.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: SPANISH GOLD MUCH 2CU. FT BAG

Description: Spanish Gold Much 2cu. Ft Bag

Unit of BG Quantity: 2,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2,000.0000	6.0000000	12,000.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: BLACK MULCH 2CU.FT BAG

Description: Black Mulch 2cu.Ft Bag

Unit of BG Quantity: 2,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2,000.0000	6.00000000	12,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: BROWN MULCH 2CU.BAG

Description: Brown Mulch 2cu.Bag

Unit of BG Quantity: 2,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	2,000.0000	6.00000000	12,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: SOIL- 50/50 MIX

Description: Soil- 50/50 Mix

Unit of CY Quantity: 500.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	500.0000	55.00000000	27,500.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: SOIL-80/20 MIX

Description: Soil-80/20 Mix

Unit of CY Quantity: 500.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	500.0000	75.00000000	37,500.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: ANNUALS MIX

Description: Annuals Mix

Unit of CY Quantity: 100.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	100.0000	115.00000000	11,500.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: SAND

Description: Sand

Unit of CY Quantity: 100.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	100.0000	55.00000000	5,500.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: BIO-BARRIER ROOT BARRIER

Description: Bio-Barrier Root Barrier

Unit of LF Quantity: 1,000.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1,000.0000	15.00000000	15,000.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: STUMP GRINDING 3 PERSON PLUS EQU

Description: Stump Grinding 3 person plus equipment

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	205.00000000	8,200.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: LABORER/GROUNDSKEEPER

Description: Laborer/Groundskeeper

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	39.00000000	1,560.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: IRRIGATION/HELPER

Description: Irrigation/Helper

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	85.00000000	3,400.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: IRRIGATION TECHNICIAN/CERTIFIED

Description: Irrigation Technician/Certified

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	45.00000000	1,800.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: LARGE EQUIPMENT OPERATOR

Description: Large Equipment Operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	45.00000000	1,800.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: SUPERVISOR FOREMAN

Description: Supervisor Foreman

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	50.00000000	2,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: GRADUATE HORTICULTURIST

Description: Graduate Horticulturist

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	110.00000000	4,400.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: BOBCAT W/OPERATOR

Description: Bobcat w/operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	150.00000000	6,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: FRONTEND LOADER W/OPERATOR

Description: Frontend Loader w/Operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	200.00000000	8,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: 18 YARD DUMPTRUCK W/OPERATOR

Description: 18 yard dumptruck w/operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	125.00000000	5,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: CLIMBER/TRIMMER

Description: Climber/Trimmer

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	55.00000000	2,200.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: CHIPPERTRUCK W/OPERATOR

Description: Chippertruck w/Operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	150.00000000	6,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: BUCKETTRUCK OPERATOR

Description: Buckettruck Operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	175.00000000	7,000.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: WATER TRUCK W/OPERATOR

Description: Water truck w/Operator

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	125.00000000	5,000.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: SPRAY TECHNICIAN

Description: Spray Technician

Unit of HR **Quantity: 40.0000**

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	40.0000	65.00000000	2,600.00
Florida Drone Cleaning (No bid)	0.0000	0.00000000	0.00

Item: PRESSURE WASHING W/EQUIPMENT 2 M

Description: Pressure Washing w/equipment 2 Men

Unit of HR **Quantity: 80.0000**

Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	80.0000	130.00000000	10,400.00
Florida Drone Cleaning	80.0000	40.00000000	3,200.00

Item: ALLOWANCE FOR TREES & PLANTS

Description: \$35,000.00 Allowance for Trees & Plants

Long Item The bidder MUST enter \$35,000.00 as an estimated amount of money that may be spent on Trees & Plants on a

Description: pass-thru basis. If the bidder does not enter \$35,000.00 for this item, the City will make a correction to the

tabulation and enter \$35,000.00 for the bidder.

Unit of DO

Measure:

Quantity: 1.0000

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	35,000.00000000	35,000.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00

Item: \$25,000 ALLOWANCE FOR MISCELLANE

Description: \$25,000 Allowance for Miscellaneous Supplies & Materials

Long Item The bidder MUST enter \$25,000.00 as an estimated amount of money that may be spent on Trees & Plants on a Description: pass-thru basis. If the bidder does not enter \$25,000.00 for this item, the City will make a correction to the

tabulation and enter \$25,000.00 for the bidder.

Unit of DO Quantity: 1.0000 Measure:

	Quantity	Unit Price	Extended Amount
SFM Landscape Services, LLC.	1.0000	25,000.00000000	25,000.00
Florida Drone Cleaning (No bid)	0.0000	0.0000000	0.00